Maths Homework Y5 Mr Masingiri
Date set: 25/11/21
Date due: 29/11/20

You need to complete both sections

Section 1 -

1. 200,000 - 46,834 =

2. 8=56 =

3. 4784 x6+=

4. 653,829 + 681,936 =

5.3 x = 6x6

6. What is the difference between

-15 and 7? Show your answer on a humber
line:

-15 7

Section 2 -

1. What is the difference between
63,793 and 9,258?

2. Round 463,451 to the nearest 10,
100, 1000 and 10,000.

3. MMMD -CML =

4. 960 x 1000 =

5. Mrs Brown buys 140 new footballs.
They cost £8 each. How much change
will she get from £1500?




